

PAVEMENT MANAGEMENT SYSTEM & PAVEMENT ASSET TRACKING SYSTEM

25-055-DOT | MAY 13, 2025

SUBMITTED BY





Price

We understand that the RFP has requested the use of the 2.8 direct labor multiplier applied to fee structures. We normally scope and price projects of this nature on a fixed fee/lump sum basis, primarily based on per-mile rates. Based on the response to questions in Addendum 1, we have built our fee schedule using fixed fees for tasks mainly related to data acquisition and data processing, and the 2.8 multiplier for consulting portions of the scope of work. We welcome a discussion on this topic to work through any adjustments or feedback the county may have on this structure.

The fee schedule below reflects our standard pricing methodology, with a callout to consulting tasks. We believe our consultants, utilizing the 2.8 multiplier method, will result in fees being aligned with the estimated dollars stated per task.

As outlined in our proposal, we are providing the county with two pavement management software (PMS) options, given the broad spectrum of options available in the market that would comply with the stated requirements. We urge the county to gain a thorough understanding of any PMS contemplated for use, as the capabilities vary and many may not meet the desired outputs/results needed for the county to fully leverage the high-quality data they are seeking in the RFP. We have displayed the fees to show a three-year outlook for the two software options, Decision Optimization Technology (DOT) and StreetLogix.

We have also provided our standard pricing for various optional, value-added services for reference. Many clients add on right-of-way inventory extraction, given that the data is obtained through the road condition survey. There is also flexibility in adding these items at a later date, leveraging the same collected dataset.

Fee Proposal					
Name	Qty.	Units	Price	Disc.	Total Price
Survey/Data Delivery Tasks					
Project Setup and Kickoff	1	Lump Sum	\$2,500.00		\$2,500.00
Project Management	1	Lump Sum	\$2,000.00		\$2,000.00
GIS Review and Survey Extents Verification	220	Centerline Miles	\$15.00		\$3,300.00
Mobilization/Calibration	1	Lump Sum	\$2,925.00		\$2,925.00
Field Data Collection - IrisPRO Pave	401	Test Miles	\$65.00		\$26,065.00
Data Processing: Enhanced ASTM D6433 (Including QC/QA) - According to Standard Data Dictionary	401	Test Miles	\$30.00		\$12,030.00
Condition Data Delivery (Standard Geodatabase/Tabular Format Only)	1	Lump Sum	\$500.00		\$500.00
	Survey/Data Delivery Subtotal: \$49,320.00				\$49,320.00
Consulting Tasks (Estimated Fees/Maximums – to Follow 2.8 Multiplier Requirements)					

DuPage County Division of Transportation (DuDOT) Pavement Management System & Pavement Asset Tracking System 25-055-DOT



Pavement Management Plan/Analysis - Within Selected Pavement Management Software- Draft	1	Lump Sum	\$15,000.00	\$15,000.00		
Data Loaded to Selected Pavement Management Software (including formatting)	1	Lump Sum	\$3,500.00	\$3,500.00		
Draft Pavement Management Report	1	Lump Sum	\$2,400.00	\$2,400.00		
Final Pavement Management Report and Analysis Results	1	Lump Sum	\$500.00	\$500.00		
	\$21,400.00					
Web Hosted Viewing Software (Inform	Web Hosted Viewing Software (Inform)					
Inform - 400 to 800 lane miles	1	Per Year	\$4,000.00	\$4,000.00		
Inform Web Hosting	401	Per year per mile	\$1.20	\$481.20		
W	\$4,481.20					
Core Services and Web Hosted Viewing Software Total:				\$75,201.20		



Fee Proposal – Pavement Management Software – Three-Year Outlook						
Name	Qty.	Units		Year 2 Price	Year 3 Price	
Pavement Management Software - Decision Optimization Technology (DOT) (Option 1)						
Transportation Module -		_		<u>-</u>		
Implementation Service Fees -	1	Lump Sum	\$30,000.00	\$0.00	\$0.00	
Roads Only (ONE TIME, YEAR 1	1	Lump Sum	\$50,000.00	\$0.00	\$0.00	
ONLY)						
Transportation Module - Annual	1	Lump Sum	\$12,000	\$0.00	\$0.00	
Subscription and Support Fees	·	•	\$12,000		\$0.00	
Subtotal Base Pri			\$42,000.00	\$12,000.00	\$12,000.00	
Optional Features, Priced Separately	for DOT	Software				
Transportation Module - ArcGIS						
Integration - Roads Only (Annual	1	Lump Sum	\$5,000.00	\$1,250.00	\$1,250.00	
Maintenance Fee Required Years 2		Lamp Jam	45,000.00	\$1,230.00	41,230.00	
& 3)						
Transportation Module -						
Implementation for Additional		Lump Sum	\$10,000.00	\$0.00	\$0.00	
Assets: Crosswalks, Curbs,	1					
Markings, Shoulders, Multi-Use						
Paths						
Transportation Module - ArcGIS Integration - Additional Assets						
(Annual Maintenance Fee Required	1	Lump Sum	\$4,000.00	\$1,000.00	\$1,000.00	
Years 2 & 3)						
Subtotal Base Pri	ce for D	OT Software:	\$19,000.00	\$2,250.00	\$2,250.00	
Total Price for DOT Software, With Optional Features:			\$61,000.00	\$14,250.00	\$14,250.00	
	ars, No Options		\$66,000.00			
					\$89,500.00	
Name	Qty.	Units	Year 1 Price	Year 2 Price	Year 3 Price	
StreetLogix (Option 2)						
Software License	1	Lump Sum	\$15,000.00	\$15,000.00	\$15,000.00	
Implementation, Year 1 Only	1	Lump Sum	\$7,500.00	\$0.00	\$0.00	
Total StreetLogix Software Price (3 Years): \$52,500.00						

Fee Proposal – Personnel Hourly Rates Ranges Under 2.8 Multiplier Method				
Staff	Rate			
Senior Project Engineer/Consultant	\$163 - 218/hour			
Staff Project Engineer/Consultant	\$114 - 145/hour			



Optional Value Added Services

Optional Value-Added Service Activities - Cost Estimates				
Name	Qty.	Units	Price	Total Price
FastFWD Structural Testing - Recommended 2-Pass Test for Major Roads				
a. Mobilization/Calibration (FFWD)	1	Lump Sum	\$ 3,000.00	\$ 3,000.00
b. Field Data Collection - Fast Falling Weight Deflectometer (FFWD)	TBD	Test Miles	\$ 150.00	TBD
c. Traffic Control for Deflection Testing (if applicable/necessary)	TBD	Hours	\$ 150.00	TBD
d. Data Processing: Standard FFWD (Including QC/QA) - \$1,750 base fee + \$5 lmile for networks > 100 miles	1	Lump Sum	\$ 3,255.00	\$ 3,255.00
e. Calculate Structural Number (SNeff) - Used for Network Level Analysis - \$1.000 base fee + \$5/mile for				
networks > 100 miles	1	Lump Sum	\$ 2,505.00	\$ 2,505.00
f. Optional - Calculate Structural Number Required (SNreq) Based on ADT and Provide Structural				
Index - \$1,000 base fee + \$5 lmile for networks > 100 miles	1	Lump Sum	\$ 3,505.00	\$ 3,505.00
g. Optional - Color Coded GIS Map - Based on Structural Index (SI) (PDF)	1	Lump Sum	\$ 1,000.00	\$ 1,000.00
Right of Way (ROW) Asset Extraction - Using Standard Data Dictionary Attributes				
Crosswalks	401	Test Miles	\$ 13.60	\$ 5,453.60
Curb & Gutter	401	Test Miles	\$ 17.60	\$ 7,057.60
Curb Markings	401	Test Miles	\$ 17.00	\$ 6,817.00
Drainage Ditches	401	Test Miles	\$ 17.60	\$ 7,057.60
Drainage Structures (Inlets)	401	Test Miles	\$ 27.20	\$ 10,907.20
Driveway Aprons	401	Test Miles	\$ 34.00	\$ 13,634.00
Fence	401	Test Miles	\$ 17.60	\$ 7,057.60
Fire Hydrants	401	Test Miles	\$ 17.00	\$ 6,817.00
Guardrail/Guiderail	401	Test Miles	\$ 17.60	\$ 7,057.60
Landscaping	401	Test Miles	\$ 44.00	\$ 17,644.00
Manhole Covers	401	Test Miles	\$ 23.80	\$ 9,543.80
Pavement Striping - Linear	401	Test Miles	\$ 26,40	\$ 10,586.40
Pavement Markings - Point	401	Test Miles	\$ 17.00	\$ 6,817.00
Retaining Walls	401	Test Miles	\$ 17.60	
Pedestrian Curb Ramps	401	Test Miles	\$ 20.80	\$ 8,340.80
Sidewalks	401	Test Miles	\$ 17.60	\$ 7,057.60
Sign Supports	401	Test Miles	\$ 27.20	\$ 10,907.20
Signs Signs	401	Test Miles	\$ 57.80	\$ 23,177.80
	401	Test Miles	\$ 75.00	\$ 30,075.00
Sign & Supports - Combined - Discounted Rate Sound/Noise Barriers	401	Test Miles	\$ 17.60	-
	401	Test Miles	-	
Street Furniture	401	Test Miles	\$ 27.20 \$ 40.80	\$ 10,907.20 \$ 16,360.80
Street Lights	401	+	+ -	
Traffic Signals and Flashers		Test Miles	\$ 23.80	\$ 9,543.80
Trees	401 401	Test Miles	\$ 51.00	\$ 20,451.00
Utility Poles	401	Test Miles	\$ 40.80	\$ 16,360.80
Valves	401	Test Miles	\$ 34.00	\$ 13,634.00
Pavement Story Map for External Viewers, Standard, With Hosting for 1 year	1	Lump Sum	\$ 7,500.00	\$ 7,500.00
a. Years 2 - 4 Annual Updates of Rehabs; + hosting fees of \$1.20 per mile (if applicable)	3	Lump Sum	\$ 2,000.00	\$ 6,000.00
Pavement Condition Dashboard for Client Internal Viewing, Standard, With Hosting for 1 year	1	Lump Sum	\$ 5,500.00	\$ 5,500.00
a. Years 2 - 4 Annual Updates of Rehabs; + hosting fees of \$1.20 per mile (if applicable)	3	Lump Sum	\$ 2,000.00	\$ 6,000.00
City Council/County Commission Presentation - Virtual	1	Lump Sum	\$ 3,500.00	\$ 3,500.00
a. Add for an Onsite Presentation	1	Lump Sum	\$ 2,500.00	\$ 2,500.00
Non-Standard Written Report (Min. 8-Hours; beyond at Hourly Rate)	8	Hours	\$ 150.00	\$ 1,200.00
Additional or Specialty Maps for Reporting (In Addition to Maps in Standard Report)	1	Lump Sum	\$ 750.00	\$ 750.00
Additional Printed/Hard Copies of the Standard Final Report	1	Lump Sum	\$ 200.00	\$ 200.00
Sidewalk Condition Survey via Sidewalk-Surface Tester (SST) Data Collection		(Available U	pon Request)	
Pedestrian Curb Ramp Non-Compliance Survey & Analysis via Mobile Lidar Data Collection		(Available U	pon Request)	
Year to Year Data Comparisons - Prior Data Collected by Other Firm (QC/QA Team)	401	Test Miles	\$ 10.00	\$ 4,010.00
Year to Year Data Comparisons - Prior Data Collected by ICC-IMS > 3 Years Ago (QC/QA Team)	401	Test Miles	\$ 7.50	\$ 3,007.50
Year to Year Data Comparisons - Prior Data Collected by ICC-IMS < 3 Years Ago (QC/QA Team)	401	Test Miles	\$ 5.00	\$ 2,005.00



ONE ORGANIZATION » ENDLESS SOLUTIONS



TURN-KEY SERVICES



EQUIPMENT PROUDLY MADE IN THE USA



END-TO-END SOFTWARE



INDUSTRY-LEADING
DATA QUALITY
MANAGEMENT
PRACTICES

PROPOSAL PRICING FORM

Section I: Contact Information

Please complete the contact information below.

BID NUMBER:	25-055-DOT
COMPANY NAME:	International Cybernetics Company, LP dba IMS Infrastructure Management Services
CONTACT PERSON:	Mollie Rhett
CONTACT EMAIL:	Mrhett@icc-ims.com

Section II: Certification

By signing below, the Bidder agrees to provide the required goods and/or services described in the Bid Specifications for the prices quoted in the Price Proposal.

Printed Name:	Michael Nieminen, PE, P. Eng	Signature:_	Signature of	n file
Title:	CEO	Date:	04/28/2025	



DuPage County Finance Department Procurement Division 421 North County Farm Road Room 3-400 Wheaton, Illinois 60187-3978

PROPOSAL FORM

Section I: Contact Information

Complete the contact information below.

RFP NUMBER:	25-055-DOT				
COMPANY NAME:	International Cybernetics Company, LP dba IMS Infrastructure Management Services				
MAIN ADDRESS:	10630 75th Street				
CITY, STATE, ZIP CODE:	Largo, FL 33777				
TELPHONE NO.:	+1 727 547 0696				
CONTACT PERSON:	Mollie Rhett				
CONTACT EMAIL:	mrhett@icc-ims.com				
Section III: Certification The undersigned certifies that The Owner or Sole	•	☑ An Officer of the	☐ A Member of the Joint		
Proprietor	sign on behalf of the Partnership	Corporation	Venture		
Herein after called the Offerd	or and that the members of the F	Partnership or Officers of th	ne Corporation are as follows:		
Michael Nie	eminen, CEO				
(President	or Partner)	(Vice-Pi	resident or Partner)		
(Secretary	or Partner)	(Trea	surer or Partner)		
herein; that this Proposal is the proposed forms of agree in the office of the Procuren	made without collusion with any ment and the contract specificati nent Officer, DuPage County, 42	other person, firm or corp ions for the above designa 21 North County Farm Ro	posal as principals are those named poration; that he has fully examined ted purchase, all of which are on file ad, Wheaton, Illinois 60187, and all his and attached exhibits, including		

Further, the undersigned proposes and agrees, if this Proposal is accepted, to provide all necessary machinery, tools, apparatus, and other means of construction, including transportation services necessary to furnish all the materials and equipment specified or referred to in the contract documents in the manner and time and at the price therein prescribed.

Addenda No. 1 , and issued thereto.

Further, the undersigned certifies and warrants that they are duly authorized to execute this certification/affidavit on behalf of the Offeror and in accordance with the Partnership Agreement or by-laws of the Corporation, and the laws of the State of Illinois and that this Certification is binding upon the Offeror and is true and accurate.

Further, the undersigned certifies that the Offeror is not barred from proposing on this contract as a result of a violation of either 720 Illinois Compiled Statutes 5/33 E-3 or 5/33 E-4, Proposal rigging or Proposal-rotating, or as a result of a violation of 820 ILCS 130/1 et seq., the Illinois Prevailing Wage Act.

The undersigned certifies that they have examined and carefully prepared this Proposal and have checked the same in detail before submitting this Proposal, and that the statements contained herein are true and correct.

If a Corporation, the undersigned, further certifies that the recitals and resolutions attached hereto and made a part hereof were properly adopted by the Board of Directors of the Corporation at a meeting of said Board of Directors duly called and held and have not been repealed nor modified, and that the same remain in full force and effect. (Offeror may be requested to provide a copy of the corporate resolution granting the individual executing the contract documents authority to do so.)

Further, the Offeror certifies that they have provided equipment, supplies, or services comparable to the items specified in this contract to the parties listed in the reference section below and authorizes the County to verify references of business and credit at its option.

Finally, the Offeror, if awarded the contract, agrees to do all other things required by the contract documents, and that it will take in full payment therefore the sums set forth in the cost schedule.

PROPOSAL AWARD CRITERIA

The Offeror acknowledges and agrees that the proposal will be awarded to the most responsive, responsible vendor meeting specifications based upon the highest score compiled during evaluation of the proposals outlined in the selection process.

The Offeror agrees to provide the service described in this solicitation and in the contract specifications under the conditions outlined in attached documents for the amount stated.

By signing below, the Offeror agrees to the terms of this Proposal Form and certifies that the information submitted on this form is true and correct to the best of its knowledge.

International Cybernetics Company, LP

Offeror: dba IMS Infrastructure Management Services

Signature:

Title:	CEO	Date:	5/9/25